MP Police Previous. Year Paper
Constable 11 Sept, 2023 Shift 2




View Your Responses/ Complain About Question/ View Complained Questions/ Payment /
gt wifafsmaradi 3 warer & 9 F fRrrad o RrepTart wer 4 YT

Roll No.

Candidate Name

Paper Name :[Non-Technical v]
Test Date :09/11/2023

Test Time :Shift - 2

Center

Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1
A

B
C
D

Q.No: 2

O 0w

Q.No: 3

O 0O ®w

Q.No: 4

O 0O @

Q.No: 5

o o0 o

Q.No: 6

o 0 m »

Q.No: 7

Where is the Jawaharlal Nehru Krishi Vishwa Vidyalaya located?
Jabalpur

Khargone

Ratlam

Indore

Under which act was the National Green Tribunal established?
National Green Tribunal Act, 2006
National Green Tribunal Act, 2008
National Green Tribunal Act, 2010
National Green Tribunal Act, 2012

Which of the following is NOT a writing of Keshavdas?
Godhuli

Ratanbawani

Rasikpriya

Vigyangita

FIFA World Cup in 2022 was hosted by which of the following countries?
Kuwait

UAE

Jordan

Qatar

Who is the only female sportsperson from India, to win two successive Olympics medals?
Mary Kom

Dutee Chand

PV Sindhu

Mirabai Chanu

Through which constitutional amendment, the Union Territory of Delhi was made 'National Capital Territory of Delhi'
giving special status to it?

69th Amendment Act
79th Amendment Act
89th Amendment Act

99th Amendment Act

Through which act the Governors of Bombay and Madras were placed under the Governor-General of Bengal?
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Charter Act, 1813
Government of India Act, 1935
Charter Act, 1793

Regulating Act, 1773

Which of the following district shares its border with Uttar Pradesh?
Dewas
Raisen
Ratlam

Rewa

tiger reserve has five zone namely Koilari, Dubari, Giddha, Bastua and Machmahua.
Kanha
Van Vihar
Sanjay-Dubri

Panna

Which state government has signed MoU with Infosys, Nasscom to boost employability of students in May 2023?
Kerala

Odisha

Karnataka

Tamil Nadu

Which section of the Madhya Pradesh Krishi Upaj Mandi Act, provides for a Board to be established by a notification by
the State Government?

56
40
30
21

What is the Capital of Albania?
Lima

Tirana

Pristina

Athens

Which among the following is the National Anthem of Pakistan?
Mawtini

Amar Shonar Bangla

Qaumi Taranah

Milli Surud

Chabahar Port is located in which country?
Bangladesh

Afghanistan

Turkmenistan

Iran

ICC Hall of Fame inducted which Indian cricketer in June 2021?
Rahul Dravid

Azahar Uddin
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Vinoo Mankad

Kapil Dev

Under which article, Parliament can make any law for the whole country or any part of it to give effect to any
international treaty, agreement, convention?

Article 252
Article 250
Article 251

Article 253

Who inaugurated the Janganana Bhavan and launched a web-portal for birth and death registration in May 2023?
Rajnath Singh

Vikram Solanki

Amit Shah

Suresh Prabhu

In which of the following countries Gangteng Monastery is located?
Nepal

Bhutan

Myanmar

Sri Lanka

The Kumbh Melaof _______is also known as 'Simhastha’.
Ujjain

Satna

Bhopal

Indore

Pradhan Mantri Matsya Sampada Yojana has been launched for a period of how many years?
2 years
5 years
4 years

6 years

Airis a

Anti-social elements
Mixture of gases
Stuff

Element

Fever is primarily a response of which body system?
Nervous system

Muscular system

Respiratory system

Immune system

Newton's first law is also called
Law of potential Energy
The law of inertia

The law of Displacement

Law of momentum
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Which of the following is the main component of Liquefied Petroleum Gas (LPG)?
Butane

Redon & Indane

Redon

Indane
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Which of the following fungal structures is responsible for nutrient absorption and plays a crucial role in nutrient

uptake from the environment? Frafed 5§ F11 30 Fw IR N Tl B i F
Sporangium 'eﬁTxiTt[[imﬂ

Sporophore TRIGR

Spores 'eﬂTllTUI

Hyphae E‘I’éﬂ?

Enchinodermata occurs in which of the following? wARArsHer fafifad & & frad urar o g2

Green glands ik R

Radial symmetry saa Tuear

Porous body ERER R

Flame cells SaTaT HIRIHTT

Janani Shishu Suraksha Karyakram was launched in which year?
2000
2015
2011
2005

A person holds a concave mirror in his hand and directs its reflecting surface towards the Sun. He directs the light
reflected by the mirror on to a sheet of paper held close to the mirror in such a way that the sunlight from the mirror
gets converged into a bright, sharp spot of light on the paper. What will happen next?

The paper will begin to burn producing smoke in a while
The paper will get crumpled by itself
The paper will start to decay

Nothing will happen

When does World Environment Day Celebrated ?
June 5

June 25

June 15

June 29

Ascaris larva is called?
Radial type
Hexacanth
Rhabditiform

Leucon

What is the significance of the symbiotic relationship between Rhizobium and plants?
It provides a sustainable source of nitrogen for plant growth.

It improves the taste and flavor of harvested crops.

It increases the sugar content in plant tissues.

It helps plants withstand drought conditions.
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Flowers that are pollinated by wind often have:
Nectar-producing glands.

Brightly colored petals.

Large and sticky pollen grains.

Fragrant scents.

What do you mean by photo autotrophs?
All of the given options is correct.

Plant synthesize their food themselves

Oxidation of certain chemicals in the absence of sunlight

Processor of making food for plants and animals

AIDS is caused by which virus?
Aichi virus

Adeno virus

HVI

HIV

Plumbism” is the disorder develops in man when exposed to
Lead

co

Arsenic

Mercury

Identify the class that best represents the Venn-diagram.

Harappa Civilization, Mchenjo-Daro, Citadel
Mother, Women, Sister
Husband who work, Married person, Men

Vedas, Rigveda, Kamadeva

In the following question below are given, some statement followed by some conclusion taking the given statement to
be true even if they seem to be at variance from commonly known facts, read all conclusion and then decide which of

the following conclusion logically follow the given statement.
Statement:

Some cat are dog.

Some rat are dog.

Conclusion:

I. Some dog are rat.

II. All rat are cat.

Only conclusion I follow
Only conclusion II follow
Both conclusion follows

None follows

Pointing to a woman, Venus said, "She is the second daughter of the only child of my grandmother". How is the woman

related to Venus.
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Mother
Niece
Wife

Sister

Which answer figure will complete the pattern in the question figure?

-

~
/)

DIRECTIONS: In the given question find the answer figure in which question is embedded.

%

!

d
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()
figure (b)
figure (a)
figure (c)
figure (d)

In a certain code language “We are happy” is coded as “du It my” , “*Children are going” is coded as “vx my Ir” and “All
children are happy” is coded as “mt Ir du my".

What is the code for ‘children like red’ in that code language?

Ir vx sq
qt Ir my
gm mt Ir

gmqtlir
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DIRECTIONS: In the given question find the answer figure in which question is embedded.

Q.No: 43 l
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The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the FHI & UH The Pl 1 &1 57 R P adiF T 43
following figures. How would this paper look when unfolded? W R 98 B Har fe@me?
7 A\ - A
\ \
Q.No: 44 \ \ \ \
\ \ \ \
R R v B
] ]
P NG P N7
cheh
P

chh
chp

>
48 dcb 48
@1E1 @I @I

fab 48
B8 g

Q.No: 45 If '+’ stands for *+’ ,'x’ stands '+, *-’ stands for ‘x" and *+’ stands for -’ then which of the following statements is AR+ T o, e T o e, o T o e AR
correct?

A 16%x14-24+-18+12= -24 16%x14-24+18+12=-24

B 24-12+12+-16%x18= 26 24-12+12+-16x18= 26

C 18+14-24x12+16=12 18+14-24%x12+-16=12

D 18-16+12x18=12= 27 18+-16+12x18+12= 27
Complete the question figure by choosing the best alternative from the answer figure. JIW AP A & Ia9 3N fadhed gAams Uy 3pfa ol ©
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In the question given below consists of a statement, followed by two arguments number I and II. You have to decide
which of the arguments is a ‘strong’ argument.

Statement:
Should there be only one rate of interest for term deposits of varying duration in banks?
Argument:

(I) No, people will refrain from keeping money for longer duration resulting into reduction of liquidity level of Banks.

(II) Yes, this will be much simple for the common people and they may be encouraged to keep more money in banks.

Only argument II is strong
Only argument I is strong
Neither argument I nor II is strong

Both arguments are strong

Which is the wrong number in the following number series?
15, 60, 240, 960, 3840, 15500

960

240

60

15500

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Choose the Venn diagram from the given options that best represents the relationship amongst the following classes:

Clerk, Male, Permanent Employee
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The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the FRE & U ¢He B 1 I 1 R o T F A 43 §
following figures. How would this paper look when unfolded? T R T8 SIS HaT fg@me
. . . -
Q.No: 51 N2 0T N2 0
_(’ \ . ' \ -(. \ A . \
] 1 ] N
) . ’ ,
7’ e b e
A ‘
B ‘
c ‘
D ‘
Identify the diagram that best represents the relationship among the given classes. I ART BT UgTH X 0 3T 71U AR & o Why @
Q.No: 52 . . L
Panchayat, District panchayat, Mandal panchayat Yargd, o vard, Hea gand
e \
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Select the odd one out. fawm reg &1 TTH FY
Q.No: 53

PA QB RC TE PA QB RC TE
A TE TE
B QB QB
C RC RC
D PA PA

Five girls are sitting in a row. Raashi is not adjacent to Grace or Adhya. Anu is not adjacent to Grace. Raashi is adjacent Ui USfbadl T Ufey & 831 §1 T, I a1 e o
to Venus. Venus is at the middle in the row. Then Anu is adjacent to whom? B R o foras ea 1 82

A Raashi i
Grace bLl

Q.No: 54



Aadhya

Venus

Select the odd one out.
Q.No: 55

AZ BY CX DW Fw
A cX
B AZ
(o} FW
D DW

Q.No: 56 Find the ratio of the price of pencil to that of ball pen, if pencil cost Rs.120 per score and ball pen cost Rs.180 per dozen.
A 8:3
9:1

2:3

o o w

2:5

No: 57 Sonu donate 8% of his salary for corona patients. On the day of donation suddenly he changed his mind and donated
Q.No: 24,000 rupee which was 75% of what he decided earlier. So how much is Sonu's salary?
Rs. 300000
Rs. 350000

Rs. 400000

o a @ »

Rs. 450000

Q.No: 58 A number% of which exceeds its%by 900 is:
A 1200

B 12,000

C 14,000

D 18,000

Q.No: 59 The zeroes of the quadratic polynomial y? + 7y + 10 are:

A 2,5
B -2,5
c -2,-5
D -4, -3

A sum was put at simple interest at a certain rate for 3 years. Had it been put at 2% higher rate, it would have fetched

Q:No: 60 5 360 more. Find the sum.

A 9000

B 8000

C 7000

D 6000

Q.No: 61 A perso.n has to bought for.Rs 900 and sold the same for Rs. 986.5 at a credit of 9 months and thus gaining 2%. The
rate of interest per annum is:

A 9%

B 10%

C 8%

D 12.5%

Q.No: 62 The sum of money, that will give 1 as interest per day at the rate of 5% per annum simple interest is.
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8:3
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2:3

2:5
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1200
12,000
14,000
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2,5

-2,5
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A 730 730

B 36500 36500
C 3650 3650
D 7300 7300

Q.No: 63 If 4x/3 + [3(7x - 5/8)1/5 = 19/60, then what is the value of x? afg ax/3 + [3(7x - 5/8)1/5 = 19/60 §, @ x FT AT

A 5/8 5/8
B 3/4 3/4
C 1/8 1/8
D 1/4 1/4

Price of an item is increased by 18% in first year and 12% in second year. What is the overall percentage increase in il T 3 Five T g 7 18% GﬁTW g & 126
0

Q.No: 64 price of item?

A 28.33% 28.33%
B 37.75% 37.75%
C 32.16% 32.16%
D 30.25% 30.25%

A officer undertakes to complete a job in 250 days. He employs 300 male for 50 days and they complete 1/2 of the work U&® ST 250 T H v Hﬁtmaﬂﬁiﬂ [ipord
Q.No: 65 then he reduces the number of male to 100, who work for 120 days, after which there are 20 days holidays. How many & g1 IUF 1G 95 JoU &1 GG ST 100 0% BH &
male must be employed for the remaining period to finish the work? g & foQ H19 @ G4 & g fora gow &1 &1a g

A 50 50
B 45 45
C 25 25
D 35 35
I WY W qd F omufy oo Y o gH §1 o Y Smufy gof A I o wHh
Q.No: 66 I::]r;’ueerz:n proportion of two numbers is 40 and third proportion of the same numbers is 320. Find the sum of the & GE 1A 40 % 8 el &1 &
A 88 88
B 80 80
C 70 70
D 100 100
Q.No: 67 A sum of money at simple interest doubles in 10 years. In how many years, at the same rate, it will be tripled? T T AR &9 TR 10 a8 F G &1 ol € | fober
A 30 years 30 T
B 20 years 20 9§
C 25 years 25 Ty
D 15 years 15 9¢

Q.No: 68 The roots of the quadratic equation 2y2 + 19y + 44 = 0 are:

faora wHi@Rr 22 + 19y + 44 = 0 B HT”

A -11,-8 -11,-8
B 11,8 11,8

11 11
e i 47

11 11

D -4’ ) ? -4: - '2_
Q.No: 69 What is the average of first 8 multiples of 8? 8 ¥ UEd 8 TUIH! BT 3T fba 82
A 45 45
B 36 36
C 54 54



Q.No: 70 pgr + xyz is what type of polynomial?

A Monomial

B None of the given options
C Trimonial

D Binomial

A piece of paper is folded and punched as shown below in the question figure. From the given answer figures, indicate
how it will appear when opened.

Q.No: 71 o
D
- .t. -
A
B
C
D
Find the wrong term in the letter-cluster series given below:
Q.No: 72
DLXF, KREL, RXLR, YDSX, EKZD
A KREL
B RXLR
C YDSX
D EKZD
Find the wrong term in the given series:
Q.No: 73
85, 72,83,74,81,77,79
A 79
83
C 85
D 77

Q.No: 74 How many triangles are there in the given figure?

28

par + xyz &9 YHR F1 9gUT &2
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o g it # & B
fug

fiue
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DLXF, KREL, RXLR, YDSX, EKZD
KREL
RXLR
YDSX
EKZD

& TS gEan A Tad Ug I B
85, 72,83,74,81,77,79
79

83
85
77
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A 14 14
B 18 18
C 12 12
D 16 16
Q.No: 75 If the day before yesterday was Thursday, when will Sunday be? i S Y Ugd aral fad Tear o1, A AJaR & grm?
A Two days after today 3eT & & feT a1
B Tomorrow o
C Today 3T
D Day after tomorrow )
Which two signs and numbers should be interchanged in the following equation to make it correct? e gfleru o g A F R e g ar o
Q.No: 76
3+26+13%x4-32=37 3+26+13x4-32=37
A = and +, 3 and 32 2 3R+, 3 3R 32
B +and x, 4 and 13 + 3R x, 4 3R 13
c - and x, 26 and 4 - 3R x, 26 3R 4
D +and-, 4and 3 +6ﬁ?-,4éﬁ‘{3
No: 77 Anil reached a place on Friday. He came to know that he was three days earlier than the scheduled day. If he had HAR P A TH SRIE ggaT| I TaT dan fob g fe
Q.No: reached there on the following Sunday. How many days late/ early he would have been? T de/aiedl X1 M
A Two day earlier T wga
B One day late Wﬁ’i%’\"\&
C Two days late ARARY
D One day earlier Wﬁqfﬁ"ﬁ
If a mirror is placed on the line AB, then which of the answer figure is the right image of the given figure? FR APl F HF Ot sl wy sl &1 wet wfafa
A 8 A B
Q.No: 78
A 3 A A .
4 Y.
A
A A 1A AT,
[TTT] FTTT
[ SR R SR IR
5 \VAY \\L
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The interchange of which of the given numbers/signs in the alternatives will make the given equation meaningful? faaret & & 918 Tt HEam3l/el
QNOI79 )y 3y k6483276 (20+3)x6+8-32=76
A x and + x 3T+
B 8and 6 83k 6
C + and - + 3R —
D 3and 8 33k 8
Find the missing term in the given series: gl 9 g Ug Jd B
Q:Noz 80 541, 545, 554, 579, 628, ____ 541, 545, 554, 579, 628, ____
A 645 645
B 654 654
C 681 681
D 749 749

Q.No: 81 Ifin a certain code language ‘TRUE' is written as ‘2018215’, then how will ‘TAP’ be written in that language?

A 11223
B 20155
[ 20116
D 20117

Three positions of a cube are shown below. What will come opposite to face containing ‘A5"?

A3 / AS / YR
Q.No: 82 #6 . g
A a | o A3

A2
Al
A3

o 0 w >

A6

In a horizontal row of students, Preksha is 14% from the left end of the row while her
Q.No: 83 friend Suruchi is 10t from the right end of the row. If there are eighteen students in the
row, how many students are standing between Preksha and Suruchi?

Six
Four

Three

O 0 @ >

Five

Q.No: 84 If an a certain code language ‘TALK' is written as ‘2121312, then how will '‘PATNA’ be coded in that language?

A 17221125
B 17221251
C 17221152
D 17212152

Q.No: 85 From the given alternative words, select the word which cannot be formed using the letters of the given word?

e fobeit Y e MIoT § 'TRUE' &1 '2018215' foran
11223
20155
20116
20117

TF 19 B aF Rufeet R exfE 1§ As ard vas

k] Y-y o

/.nG " e

s A | a |2

/ /
A2
Al
A3
A6

UF BE & Afawr Ul A, Jam o1 - ufd ¥ e
3ERE BH T N Ve 3R Gofy & i fra o 82

EEE

Ife T FfHd P8 WM TALK ‘B’ 2121312 foran oIk
17221125
17221251
17221152
17212152

frofaRed fawed @ § ag s 9T o T 70 w18 & 9
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Q.No: 86

o 0o w

Q.No: 87

o 0O @ >

Q.No: 88

o 0O @ >

Q.No: 89

o 0 w >

Q.No: 90

o 0O w >

Q.No: 91

o 0 w

Q.No: 92

MEASUREMENT

TEAMS
SUMMER
SUMMIT
MASTER

Which of the following numbers is divisible by 9.

4553
6339
8991
9821

A, B and C started a business by investing Rs.40,000, Rs.50,000 and Rs.60,000 respectively. After 8 months B withdrew
10,000. After one more month C withdrew Rs.40,000. Find the ratio in which profit earned at the end of the year will be

distributed.
4:5:6
48:54:69
12:14:15

10:12:13

What should come in place of question Mark *?’ in the following number series?

17,19, 23,29, 31,37, ____
41
43
47
40

What value would come in place of the question mark (?) in the following equation?

Y2744+ 34096 + V7 =38.5

72.75
82.25
72.25

62.25

A boat can travel having speed of 11 km/hr in still water. If the stream’s speed is 7 km/hr, calculate the time by which

the boat reaches 72 km downstream.
5 hours
7 hours
9 hours

4 hours

is divisible by 17.

6885
5586
7963
5486

What value would come in place of the question mark (?) in the following equation?

14 % of 250 + 65 % of 380 - 13 % of 630 = ?
200.1

195.1

MEASUREMENT

TEAMS
SUMMER
SUMMIT
MASTER

frafafaa & & S d ven 9 ¥ s )
4553
6339
8991
9821

A, B 3R C A HH=: .40,000, %.50,000 3R %.60,(
& 3R T & 91 C 7 %.40,000 Foma o) a8 oF
4:5:6

48:54:69

12:14:15

10:12:13

fafafae e saa 3§ o fog > § ™A a3
17,19, 23, 29,31,37, ____

41

43

47

40

Fafufga gftesu & usars foe (7) F RERAT

Y2744 +3/4096 + V7 =38.5

72.75
82.25
72.25

62.25

@ d ft off ot & 11 fpfiysier &t i) At aEn aR
HeT 7, A I THG B AT X o gRT 19 72 fert

54
74
9He
4 g

17 ¥ faursa g1
6885
5586
7963
5486

Frafafea griteso # uyares g (7)  RERAT
250 BT 14 % + 380 BT 65 % - 630 FT1 13 % = ?
200.1

195.1



Q.No: 93

o 0w

Q.No: 94

o 0o o »

Q.No: 95

o 0O & >

Q.No: 96

O 0O W

Q.No: 97

Q.No: 98

o 0 w

Q.No: 99

247.1

232.1

A can do 2/3 of a work in 8 days, while B alone can a work in 10 days. In how long both can do it together?
50/9 days

60/11 days

50/11 days

60/9 days

A and B are standing at place ‘P’. They start moving in the opposite directions at the speed of 5 km/hr and 4 km/ hr
respectively. What will be the distance between them after 3 hours?

27 km
3 km

21 km
18 km

What will come in place of the question mark (?) in each of the following number series?
29,29, 27,23,25,19,23,17, ______

19, 15

21,13

19,13

18,16

Suraj goes first 60 km in 2 hrs and then 180 km in next 4 hrs. Calculate his average speed during the entire journey.

45 km/hr
90 km/hr
50 km/hr
40 km/hr

9 boys or 11 girls can finish a work in 12 days. How many days 6 boys and 22 girls will take to finish this job?

51 dns
i

On adding 16 to a number, the number increases by 40%. Find 20% of the number.
16

10

8

12

247.1

232.1

A, 8 forft  2/3 Ff o W §, 9Taf B 3pd 10 fF
50/9 iR

60/11 R

50/11 =

60/9 f

A SR B, ‘P’ & M ¥ fawda faxm & s 5 frh e
& 5 % w15 gHI F i et gt grite

27 ol
3 fpeft.

21 fadt.
18 f&.

R IR faa AT R ) FRA R T
29, 29,27, 23,25,19,23,17, _____

19,15

21,13

19,13

18, 16

TR Ugdt 2 59 F 60 frh ok fonR opTal 4 w2 # 180 1
45 il /der
90 feit/der
50 fsedt/der
40 &t/ der

9 TSH 1 11 wefeal i Fm ol 12 RAT B @ aw

fe

1

-

TH G H 16 S8 R, YT 40% J §¢ 9l §| T
16

10

8

12

ABCD is a cyclic quadrilateral in which ZA = 67° and ZB = 92°. What is the different between the measures of ZC

ABCD U& T Iqsist ¥ )
and £D? TSt & e
15° © MPESB. All rights reserved 19°

27° 270

250 250



D 29° 29°

Q.No: 100 What is the value of x so that the seven digit number 55350x2 is divisible by 72? x & {59 TH & T 9 sfdg ¥a, 55350x2, 96T
A 1 1
B 3 3
(o} 7 7
D 8 8




